Fl S HBON Eé%@\%\f& INSTALLATION INSTRUCTIONS

OFFROAD (%% PART Ne. FB22395
Za™ 09-18 Dodge Ram

Rear Bumper

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTy
4mm Hex Key Rear Bumper 1
10mm Socket M12 Hex Bolt 4
7mm Socket M12 Washer 4
3mm Hex Key M12 Nyloc Nut 4

18mm Socket
19mm Socket

Help of a friend

2137400
990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



Fl S HBON Eéé?%% INSTALLATION INSTRUCTIONS

OFFROAD ‘(i PART Ne. FB22395
7) g 09-18 Dodge Ram

Rear Bumper

1) REMOVE EXISTING BUMPER
Begin removing your vehicle’s existing bumper and
grille. We show how to do this in another video over
at www.fishboneoffroad.tv

3) INSTALL THE BUMPER

With the help of a friend and the 4 of the included
m12 nuts and washer, secure the bumper to the
frame rails with an 19mm socket and 18mm wrench.
| 2l . ur

Remove the sensors and sensor wiring harness.
Remove the trailer plug. Remove the license plate
lights.

2) SETUP
Install your trailer plug, sensors, license plate lights,
and license plate into the bumper.

If your vehicle does not have dual exhausts, use the
included covers to seal up the openings.

2137400

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.fishboneoffroad.tv/

